/d mean p_ [GeV]*

1/N,, dN,,

Ratio to ATLAS

=
o

=
IN

=
N

=

0.8

0.6

0.4

0.2

0.5

13000

_|_ I

GeV pp

|
__G__
----- A~ Herwig++ Powheg 2.7.1 default
----- v Herwig++ Powheg 2.7.1 LHC-UE-EE-4
__.E__

Scalar Z(pT) (ATLAS UE in Z production)

ATLAS
Herwig++ 2.7.1 default

Herwig 7.2.1 default

Z (Drell-Yan)
| I I __1]

— bl 4178533 -
| IR N %2::::@:: _________ _
:! ! ! ! l ! ! '| -~----....;:!::::g?:?:.-‘.1|.-‘.-.-.-.-.-.-.-.-—.-r—.-.-?'l !:
— A -
- BJA ]
r ®\ \ "’.‘.-..::: t
- W EBs =
B ) TELL B
G)*xm N1 PP ¢ W 3 it 2.
YT g A N ]
“““ ~A~". o \ -~ i = ~
i ' A Eﬂ--\\ 0 ]
| ...!~ ~A~.'...~.. \\Ns . |
A ‘~\

Mean pT/dr] do

Rivet 3.1.10, = 3.4M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


